
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

6519.9 × 0.01 = ________ 2538.1 × 0.01 = ________

3285.2 × 0.001 = ________ 8144.7 × 0.01 = ________

3275.3 × 0.001 = ________ 7198.9 × 0.1 = ________

3745.3 × 0.0001 = ________ 5394.4 × 0.0001 = ________

7302.5 × 0.01 = ________ 1885.2 × 0.001 = ________

8065.6 × 0.1 = ________ 5621 × 0.0001 = ________

9953 × 0.01 = ________ 6026.3 × 0.001 = ________

2594.3 × 0.0001 = ________ 3720.6 × 0.1 = ________

2901.3 × 0.001 = ________ 9717.7 × 0.1 = ________

1970.7 × 0.1 = ________ 9880.1 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

6519.9 × 0.01 = 65.199 2538.1 × 0.01 = 25.381

3285.2 × 0.001 = 3.2852 8144.7 × 0.01 = 81.447

3275.3 × 0.001 = 3.2753 7198.9 × 0.1 = 719.89

3745.3 × 0.0001 = 0.37453 5394.4 × 0.0001 = 0.53944

7302.5 × 0.01 = 73.025 1885.2 × 0.001 = 1.8852

8065.6 × 0.1 = 806.56 5621 × 0.0001 = 0.5621

9953 × 0.01 = 99.53 6026.3 × 0.001 = 6.0263

2594.3 × 0.0001 = 0.25943 3720.6 × 0.1 = 372.06

2901.3 × 0.001 = 2.9013 9717.7 × 0.1 = 971.77

1970.7 × 0.1 = 197.07 9880.1 × 0.01 = 98.801
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